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The figures in the right hand side margin indicate marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is called argument?

˚≈øMê ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(b) Define contrary opposition of proposition.

øı¬Ûı˛œÓ¬ øıÀı˛±øÒÓ¬±ı˛ ¸—:± ±›/

(c) What is an existential import?

’øô¶∏Q˜”˘fl¬ Ó¬±»¬Û˚« ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

(d) What is a tautologous statement form? Give an example.

¶§Ó¬–¸Ó¬… ı‰¬Ú±fl¬±ı˛ fl¬±Àfl¬ ıÀ˘∑ ¤fl¬øÈ¬ Î¬◊±˝ı˛Ì ±›/

(e) What is class according to Copi?

Œ|øÌ ı˘ÀÓ¬ Œfl¬±ø¬Û fl¬œ ı≈øÁ¬À˚˛ÀÂÚ∑

(f) What is figure of syllogism?

Ú…±À˚˛ı˛ ¸—¶ö±Ú fl¬±Àfl¬ ıÀ˘∑

(g) ÊWhat is the standard  form of Categorical Proposition?

’±˙« ’±fl¬±Àı˛ı˛ øÚı˛À¬Ûé¬ ı‰¬Ú ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) What is called statement form?

ı‰¬Ú±fl¬±ı˛ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –
(a) Construct an argument that commits the fallacy of undistributed middle. 5

¤˜Ú ¤fl¬øÈ¬ ≈̊øMê ·Í¬Ú fl¬Àı˛± ˚± ’ı…±¬Û… Œ˝Ó≈¬ Œ±À¯∏ ≈©Ü/
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(b) Use truth tables to determine the following statement form as tautologous, self-contradictory

or contingent: 2½+2½=5

¸Ó¬…¸±ı˛Ìœı˛ ¸±˝±À˚… øÚÀ•ßı˛ ı‰¬Ú±fl¬±ı˛&ø˘ ¶§Ó¬–¸Ó¬…, ¶§Ó¬–ø˜Ô…± Ú± ’±¬ÛøÓ¬fl¬ øÚÒ«±ı˛Ì fl¬ı˛ –

(i) P [p (q. q)]  

(ii) [(p.q) r] [p (q r)]   

(c) Test the validity of the following  syllogistic form by means of Venn Diagram: 5

Œˆ¬Úø‰¬ÀSı˛ ¸±˝±À˚… øÚ•ßø˘ø‡Ó¬ ˚≈øMêı˛ ’±fl¬±ı˛øÈ¬ı˛ ΔıÒÓ¬± øı‰¬±ı˛ fl¬Àı˛± –

IAO — 3

(d) What is called Sorites? Use Venn Diagrams to determine the validity or invalidity of the

following argument. 1+4=5

Ú…±˚˛˙‘∫˘ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ Œˆ¬Úø‰¬ÀSı˛ ¸±˝±À˚… øÚÀ•ß±Mê ˚≈øMêøÈ¬ı˛ ΔıÒÓ¬±-’ÕıÒÓ¬± øı‰¬±ı˛ fl¬Àı˛±/

Dogs are mammals. No cats are dogs. Therefore no cats are mammals.

fl≈¬fl≈¬ı˛ ô¶∏Ú…¬Û±˚˛œ Êœı/ øıh¬±˘ fl≈¬fl≈¬ı˛ Ú˚˛/ ’Ó¬¤ı Œfl¬±Ú øıh¬±˘ ô¶∏Ú…¬Û±˚˛œ Êœı Ú˚˛/

(e) What is complementary class? What is the difference between contray terms and

complementary terms? 2+3=5

¬Ûøı˛¬Û”ı˛fl¬ Œ|øÌ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ øı¬Ûı˛œÓ¬ ¬Û › ¬Ûøı˛¬Û”ı˛fl¬ ¬ÛÀı˛ ¬Û±Ô«fl¬… Œfl¬±Ô±˚˛∑

(f) (i) What is the difference between Material equivalence and logical equivalence?

ıd·Ó¬ ¸˜Ô«Ó¬± › Œ˚ÃøMêfl¬ ¸˜Ô«Ó¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… Œfl¬±Ô±˚˛∑

(ii) Use truth table to determine truth value of the following statement form: 2+3=5

øÚÀ•ß±Mê ı‰¬Ú±fl¬±ı˛ ¸Ó¬…˜”˘… ¸Ó¬…¸±ı˛Ìœı˛ ¸±˝±À˚… øÚÌ«˚˛ fl¬ı˛ –

[(p  q) . (q  p)  (p  q)  (~ p  ~ q)]

3. Answer any one questions: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›–

(a) What is dilemma? What are the ways of evading or rifuting the conclusion a dilemma—

explain briefly with example. 2+8=10

Î¬◊ˆ¬˚˛ ¸—fl¬È¬ ˚≈øMê fl¬±Àfl¬ ıÀ˘/ ¤fl¬øÈ¬ Î¬◊ˆ¬˚˛ ¸—fl¬È¬ ˚≈øMêı˛ ø¸X¬±ôL fl¬œ fl¬œ Î¬◊¬Û±À˚˛ øÚı˛¸Ú fl¬ı˛± ˚±˚˛ ı± ¤h¬±ÀÚ±
˚±˚˛ Ó¬± ¸—Àé¬À¬Û Î¬◊±˝ı˛Ì ¸˝À˚±À· ı…±‡…± fl¬ı˛/√
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(b) Construct a formal proof of validity by the method of quantification:

¬Û±ı˛˜±Ìfl¬ ¬ÛX¬øÓ¬ÀÓ¬ ΔıÒÓ¬±ı˛ ’±fl¬±ı˛·Ó¬ √õ∂˜±Ì ±›–

(i) ( )( )x Ax Bx

( )( . )
( )( . )

x Cx Ax
x Cx Bx


  

(ii) All diplomats are statesmen. Some diplomats are eloquent. All eloquent statesmen

are orators. Therefore, some diplomats are orators.

¸fl¬˘ fl”¬È¬ÚœøÓ¬øıƒ ˝Ú é¬/ fl¬Ó¬fl¬ fl”¬È¬ÚœøÓ¬øıƒ ˝Ú ı±fl¬¬ÛÈ≈¬/ ¸fl¬˘ é¬ ı±fl¬¬ÛÈ≈¬ ˝˘ ı…øMêQ¬Û”Ì«/ ¸≈Ó¬ı˛±—
fl¬Ó¬fl¬ fl”¬È¬ÚœøÓ¬øıƒ ˝Ú ı…øMêQ¬Û”Ì«/
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